
Unit 2 4.3    Exponent Properties (Power to a Power) 
 
Warm-Up/Review: 
 

1.     
18𝑥6𝑦19

24𝑥𝑦10
   2.   (−2𝑥3𝑦4)(5𝑦7)  3.   

(𝑥2𝑦8𝑧)(6𝑥5𝑦𝑧9)

20𝑥2𝑦3𝑧4
 

 
 

 

 

 
 

 
 
Using the definition of exponents, what happens when bases are raised to another power… 
 
Examples (Power to a Power): 

 
(23)4 

 

 
 
 
 
 
 

(𝑥4)2 (𝑥5𝑦2)3 

 
Can you generalize what has happened?   
 
 
 
 
 

 
Using what you just learned, what happens when different bases are being divided and raised to a power? 
 

(
𝑎3

𝑏5
)

2

 (
𝑐2

𝑑
)

9

 (
𝑓3𝑔2

𝑘4
)

5

 

 

 

 

 

 

 
 
Does it change the rule? 
 



What about coefficients?!  What do we do with those?! 
 

(6𝑥4)3 

 

 

 

 

 

 

 
 

(9𝑎2𝑏4)2 (7𝑐𝑑2)3 
 
 
 
 
 
 
 
 
 
 
 

 

(
3𝑛4

𝑚5 )

4

 

 

(
4𝑥3𝑦2

𝑧8
)

3

 

 

(
2𝑓3𝑔2

5𝑘4
)

5

 

 
 
 
 
 
 
 
 
 

 

 
 
Unit 2 4.3p Power to a Power                   

1. (3𝑥5𝑦𝑧9)5 
2.  (

𝑏3

𝑐5
)
4

 
3.  (8𝑗3)3 
 
 
 
 
 
 
 

4.  (
2𝑥

3𝑦2
)
12

 
5.  (10𝑤4𝑥𝑦𝑧2)2 

6. Challenge: (
(−2𝑥)2

3𝑥𝑦2
)
3

 

 
 
 
 
 
 
 

 


